



Similarly, Ampere's Law gives  $\oint \vec{B} \cdot d\vec{l} = 2\pi r B = \mu_0 I_{enclosed} = \mu_0 \frac{Nev}{\sigma^2 L} \int_0^r r e^{-r^2/2\sigma^2} dr$   $\longrightarrow \vec{B} = \mu_0 \frac{Nev}{2\pi r L} (1 - e^{-r^2/2\sigma^2}) \hat{\theta}$   $\longrightarrow \vec{F} = e(\vec{E} + \vec{v} \times \vec{B}) = -\hat{r}$   $= \frac{Ne^2}{2\pi L} (1 - e^{-r^2/2\sigma^2}) \left(\frac{1}{\epsilon_0} \hat{r} + v^2 \mu_0 (\hat{s} \times \hat{\theta})\right)$   $= \frac{1}{\epsilon_0} (\epsilon_0 \mu_0) = \frac{1}{\epsilon_0} \frac{1}{c^2}$   $= \hat{r} \frac{Ne^2}{2\pi r L \epsilon_0} (1 - e^{-r^2/2\sigma^2}) (1 - \beta^2)$   $= \hat{r} \frac{ne^2}{2\pi r \epsilon_0 \gamma^2} (1 - e^{-r^2/2\sigma^2}); \quad n \equiv \frac{N}{L} = \frac{dN}{ds} \quad \text{Linear charge density}$ Collective Effects  $= \frac{V}{2\pi r \epsilon_0 \gamma^2} (1 - e^{-r^2/2\sigma^2}) = \frac{1}{\epsilon_0} \frac{1}{\epsilon_0} \sum_{r=0}^{N} \frac{1}{\epsilon_0} \sum_{r=0}^{$ 













